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	2019/March Braindump2go 2V0-622 Exam Dumps with PDF and VCE New Updated Today! Following are some new
2V0-622 Exam Questions:]1.|2019 Latest 2V0-622 Exam Dumps (VCE & PDF) Instant Download:
https://www.braindump2go.com/2v0-622.html2.|2019 Latest 2V0-622 Exam Questions & Answers Instant Download:
https://drive.google.com/drive/folders/0B75b5xYLjSSNNFdlZ0tXeVFSWGM?usp=sharingNew QuestionWhat are two features of a

resource pool? (Choose two.)A.    Controls the aggregate CPU and memory resources of the DRS cluster.B.    Allocates available

resources among the virtual machines.C.    Consolidates workloads to reduce the power consumed by the cluster.D.    Provides easy

migration and monitoring.Answer: BCNew QuestionWhich two features would an administrator use to1 migrate virtual machines

across a WAN to another site? (Choose two.)A.    Storage vMotionB.    Long Distance vMotionC.    High AvailabilityD.    Cross

vSwitchvMotionAnswer: ABNew QuestionWhat are two features of vSphere with Operations Management? (Choose two.)A.   

Enables proactive identification of system issues through predictive analysis.B.    Allows reclaiming overprovisioned capacity to

increase resource utilization.C.    Provides a secure portal for requesting new IT services.D.    Delivers real-time log management.

Answer: ABNew QuestionWhich datastore type can be extended to span several physical storage extents, including storage Area

Network LUNs and local storage devices, in order to create a datastore that fits the needs of your virtual machines?A.    Virtual SAN

B.    NFSC.    iSCSID.    VMFS DatastoresAnswer: DNew QuestionWhat are two advantages of using vSphere Data Protection In a

data center? (Choose two.)A.    Creates new virtual machines.B.    Migrates virtual machines.C.    Ensures minimum impact on

network bandwidth.D.    Provides increased backup data capacity.Answer: ACNew QuestionAn administrator wants to clone a

virtual machine using the vSphere Client.Which explains why the Clone option is missing?A.    The vSphere Client is directly

connected to the ESXi host.B.    The virtual machine is configured with a thin-provisioned virtual disk.C.    The virtual machine is

configured with outdated Virtual Hardware.D.    Cloning can only be performed with vRealize Orchestrator.Answer: ANew

QuestionAn administrator wants to power on a virtual machine (VM) while connected to an ESXi host using SSH.The VM has the

following Name and ID:-VM Name = SQL001-VMID = 12345Which command would successfully power on the virtual

machine?A.    vim-cmd vmsvc/power.on 12345B.    vim-cmd vmsvc/power.on SQL001C.    vmware-vim-cmd vmsvc/power.on

12345D.    vmware-vim-cmd vmsvc/power.on SQL001Answer: ANew QuestionWhat will occur if the .nvram file is deleted from a

powered off virtual machine?A.    The .nvram file will get created the next time the virtual machine is powered on.B.    Restoring the

file from backup is needed to allow the virtual machine to power on.C.    The virtual machine will fail to power on and enter an

Orphaned state.D.    The virtual machine will fail to power on and enter an Inaccessible state.Answer: ANew QuestionAn

administrator tries to connect the vSphere 5.5 Client to an ESXi 6.x host.What will happen when this takes place?A.    The operation

will fail, since the vSphere Client is deprecated in vSphere 6.x.B.    The operation will fail and the administrator will need to delete

the client and install the 6.x version.C.    The operation will prompt the administrator to run a script to upgrade the vSphere Client.D.

   The operation will update the vSphere Client silently in the background, then connect.Answer: CNew QuestionAfter successfully

adding a new ESXi 6.x host to vCenter Server, an administrator sees it as Not Responding in the vSphere Web Client interface a few

minutes later.If the issue is caused by a network firewall blocking traffic, which port must be opened to correct this specific

problem?A.    443 (TCP)B.    443 (UDP)C.    902 (TCP)D.    902 (UDP)Answer: DNew QuestionAn administrator is

troubleshooting network communications between the vCenter Server and the ESXi 6.x host.Which log shows the interaction events

between these components?A.    /var/log/syslog.logB.    /var/log/hostd.logC.    /var/log/vpxa.logD.    /var/log/fdm.logAnswer: C
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